Basics — 4

series/parallel resistance;

voltage/current division



Applying KCL and KVL

Consider:
e Currents in the 2 and 4 Q resistors (KCL)
* \oltages across the 6 and 12 Q resistors (KVL)
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Series Resistors & Voltage Division

I R R
- 4 1 2
o— \NN— WY
+ oy - o+ op -

46

SO



Examples
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Parallel Resistors & Current Division
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Example:
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Series/Parallel Summary

e Series: resistances add
— Nothing connected in the middle
— Same current (KCL)

— Voltage divides proportionally

* Parallel: resistances add inversely

— Connected at both ends
— Same voltage (KVL)

— Current divides proportionally
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Practice problem: find the power in the 3 Q resistor
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Practice problem: find v
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Practice problem: find the power in the 50 Q resistor
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